EARAROBEEIERT — 2 N— IBISH —F 201583R18H (k) 19mEA#3H

mﬁi%##?ﬂ] C2= 5% B IR
[A&4£] 1% :1,700,000 2 3 :510,000 @ 33 :340,000 § ~ 4 3#&:204,000 @ 5 7 :136,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. BEEXEH 13, - . - 1EH#H= (KH)
111 | 7AIRxAFv> o4 54.0 1(1_3)9 o 5.8 ¢ (i:g) KEFH
R:d—RAMO— BTS2 8 Y vbh i B4
S Rt 14, = X = FEILRETE (/I\HE)
2 4 T7ANTXI YT o EEO 1(114)1 12710 5.2 2 (4_258) #) FV—>T7—L
R:Curlin B: 77X MF7X51 b BR&t FHT77—L4
i o2 # 5 | KHE&Z 1:14.1 1-1 38.3| — 5 515 | BBHER (KH)
3 g|I—IKZa—F 56.0 (7E) a) | BFIOF
LT R4 VYo% BV THIL—b AT NS
= 4 5 | A 1:14.7 2-2 38.8| — 8 498 | AN (KH)
4/5/10| F7>7X 56.0 3) (-p) | LEFHEA
LT R4 YL—> B:xXvvFTvT 75 Kiis
5 _ = S s 4 | PHE 1:14.7 3-3 387 — 16 | 444 |FKEME (KFH)
5|8[15| 2 1TH=7 177 54.0 () o) | PERIE
LevAxNTT B:iaxah—=N LZHhIT7—L4L
_ s A 4 6 | RER 1:14.7 7-7 38.3| — 6 | 469 |PBRA—R (K#)
6 Q@13 Y- AARNRAT 6.0 (7€) 3 |2EF
L2y TELRVF— BTA /7R K— ®I -
NN o4 | BBXE 1:14.8 6-6 38.5| — 4 521 | =tE=EB (K3)
d | FAE I 56.0 (7€) (a) | EBEE
LHYIRT1 I B:h—F1Fra-X /A% N 1o
N 2 4t 4 | AIRHE 1:14.8 9-9 38.3| — 11 | 399 |#MEmZ (KH#H)
gl5/9|IA/7% 252.0 () ) | (EEEE
LA/ 799y BiIN-TLFviz (ELAIEIIES
N o5 | EREA 1:15.0 13-13 | 37.8| — 7| 481 |RMR (KH)
ol g| LV FNEXZ 5.0 (1 1/4) Gy | ) s
Libh—=>NZy F BT PED- fro—-t>r
o © HARRER :15. — . — BEEEE (KH)
10 5 T—JL K<) X4 % 5 uas 1(7151:; 8-8 38.7 1 (4_710) s
R:d—IWK7U2—)b B:xAF+v> T—IVRT7—L
— EIHEER :15. — . — ISFHERE (KH)
12| V=TI - o4 | ERE };St; 1818 ) 9.9 ’ g) o
L:TZ727 48— B:TLIYvXATNT SZvae]
S B4 | I 1:15.8 16-16 | 38.2| — 14 | 436 |EAAKRBEE (KH)
12 3| TATZ2T 54.0 (3 1/2) +1) ’%\EP@?SFQ
R:FFHRTF>d BhTFLY7 (A) A3 -KL—ra>aEr77
VIS B4 | Wisst 1:15.8 11-12 [38.9| — 10 | 485 |EBHEX (KH)
131714 E—2NZ Ny b 54.0 (74%) -8 |TFHULH
LTI aFqr—F4>% B:arNy rA—-X B BAE
=, K N H o4 | BER 1:16.0 15-14 [ 38.7| — 12 | 510 |#EEES (KH)
14/1|2| Ty KX by 7 56.0 (3/4) (3) | LHHA
RiA—GNhTr B:PhII3R FE Ak
SIS 5 | AT 1:16.3 4-5 40.2| — 13 | 458 |1ESIGH (#K)
15/ 8116 7?{ i L—2r 54.0 (1 1/2) (-4) E;;%EK
RT3y 078x%x -8 Bz NFH14~ YA FHIE
S . = i 4 | SEEK 1:16.6 10-11 40.0| — 15 | 472 | EFE (K#)
EHH NIVEY MNT—FT 1 54.0 (1 3/4) o FHIEE
T aFq =T 4> BANLEY RAZH— NIVEL N T7—L
® I —F—@EBIERL
13—7—
23—7F—
G§a=7r= 6,10,15,16,1,7,13,5,9,11,14,4,(8,12),2,3
41—+ — 6,10,15,1,16,7,13,5,9,4,11,14,8,2,12,3
[ RN
B OB 1 780M 714K 1-4 560M e & 1-2 1,900 &R 1-4-6 4,600
8 B 1 260M 1-6 1,200M B 1-2 4,690 JEH 1-4-6 25,150
4 180M4 4-6 820M B E 1-4 2,010M
6 340M B H 1-4 3,850M

ABICOVWTRDTEEERROODE. TR LIV,



